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F-403

M.A. (Second Semester)
EXAMINATION, May-June, 2022

ECONOMICS
Paper Fifth

Labour Economics

Time : Three Hours] [Maximum Marks:80

     

Note - Attempt all sections as directed.



(Section-A)

 

(Objective/Multiple Choice Questions)
(1 mark each)

    

Note : Attempt all questions.

  

Choose the correct answer.

P.T.O.
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1.     

(A) 

(B) 

(C)  

(D)  

 Who is the initiation of trade union in India-

(A) N. M. Lokhande

(B) M.N. Roy

(C) M.M. Joshi

(D) None of the above

2.       

(A)   

(B) 

(C) 

(D) 

Originated by the residual claimant theory of wage is

(A) J.S. Mill

(B) Haberler

(C) Walker

(D) Taussing
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3.    

(A) 

(B) 

(C)   

(D)  

In which method adapted of wages determination in In-
dia-

(A) Time wage

(B) Piece wage

(C) Time and Piece wage

(D) None of the above

4.     

(A)   

(B) 

(C)    

(D) 

The subsistence theory of wage is known-

(A) Iron law of wages

(B) Iso product law

(C) Demand and supply law

(D) All of the above
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5.   

(A)  

(B)  

(C)  

(D) 

Collective bargaining is:-

(A) Continuous process

(B) Supplementary process

(C) Flexible process

(D) All of the above

6.    

(A)  

(B)  

(C) 

(D) 

Which one of the following sentence is wrong sentences-

(A) Labour is perishable

(B) Labour demand is derived demand

(C) Labour is active factor of production

(D) Labour is deactive factor of production
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7.      

(A)  

(B)  

(C)  

(D)  

Which one of the following form is not mobility of labour:-

(A) Political mobility

(B) Occupational mobility

(C) Grade mobility

(D) Geographical mobility

8.    

(A) 

(B) 

(C) 

(D) 

When formation of first national commission on labour in
India:-

(A) 

(B) 

(C) 

(D) 

P.T.O.
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9.  

(A) 

(B) 

(C) (A)(B)

(D)  

What is labour:-

(A) Means

(B) Provable

(C) (A) and (B) both

(D) None of these

10.  

(A) 

(B) 

(C) 

(D) 

When formation of Minimum Wage Act in India?

(A) 

(B) 

(C) 

(D) 
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11.     

(A) 

(B)  

(C)  

(D) 

Which economist formulate "The Iron law of wage":-

(A) Recardo

(B) J.S. Mill

(C) Adam smith.

(D) Marshall

12.    

(A)   

(B)   

(C)  

(D) 

Characteristic of Indian labour market is:-

(A) Huge labour force

(B) Lack of organization

(C) Casual nature

(D) All of these

P.T.O.
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13.   

(A)   

(B)   

(C) (A)(B)

(D)  

Types of labour division is :-

(A) Simple division of labour

(B) Complex division of labour

(C) (A) and (B) both

(D) None of these

14.   

(A) 

(B) 

(C) 

(D) 

Modern industrialism originated in :-

(A) Britain

(B) Japan

(C) Russia

(D) Australia
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15.      

(A) 

(B) 

(C) 

(D)  

Who introduce wage fund theory-

(A) Marshall

(B) Taussig

(C) Ricardo

(D) Adam Smith

16.    

(A)  

(B)  

(C)  

(D)  

Industrial Dispute Act passed on :-

(A) April 1947

(B) April 1948

(C) April 1949

(D) April 1950

P.T.O.
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17.   
   

(A) 

(B) 

(C) 

(D) 

Paid leave Act was passed in international labour confer-
ence:-

(A) 

(B) 

(C) 

(D) 

18.      

(A) 

(B) 

(C) 

(D) 

National productivity Council propounded in:-

(A) 

(B) 

(C) 

(D) 
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19.  

(A) 

(B) 

(C) 

(D) 

The first meeting of the Indian labour conference was
held in-

(A) 

(B) 

(C) 

(D) 

20.    

(A) 

(B) 

(C) 

(D) 

International labour organisation headquarters is situated
in-

(A) America

(B) Switzerland

(C) France

(D) Germany

P.T.O.
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

Section-B

  

(Very Short Answer Type Questions)

(2 marks each)



Note -Attempt all questions. Answer in two-three sen-
tences.

1.  

What meant by collective Bargaining?

2. 

What is meaning of labour movement?

3.     

Define labour union.

4.  

What is the meaning of unorganized sector?

5.  

What do you mean by labour market?

6.     

Define real wages.
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7. 

What do you mean by labour productivity?

8.     

Define minimum wages.



(Section-C)

  

(Short Answer Type Questions)

(3 marks each)

   

Note -  Attempt all questions. Answer in 75 words.

1.        

Explain wage fund theory.

2.        

Describe the concept of living wage.

3.    

What is the main problem of child labour?

4.       

Explain marginal productivity of labour.

P.T.O.
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5.   

What is the causes of labour movement?

6.       

Explain the essential factor of an industrial dispute.

7.          

Discuss the causes of low wage to female workers

8.       

Explain the features of labour force.



(Section-D)

  

( Long Answer Type Questions)

(5 marks each)

     

Note-Attempt all question in about 200 words.

1.         
 

Throw light on low labour productivity causes in india?

OR/


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   

Explain the concept of labour market. Describe the char-
acteristics of labour market in India.

2.          

Explain the structure and objective of labour unions.

OR/

         


What is meant by collective Bargaining? What is its cur-
rent trends in India.

3. 
  

Define child labour. Throw light on problems of indian child
labour.

OR/

         
   

What are the various problems of women labours? What
are the measures to check it? Explain

4.  

Discuss the objective and importance of labour welfare
in India.

P.T.O.
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OR/


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Explain the Indian labour legislation and international
labour legislation.


